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B AR T (5% S R m3 | 10 [ 778.1 780
AR U T | bk 2o s 1 | 22 i L PR m2 | 10 | 1379.8 [ 1380
PiERE T EELT KR m3 | 10 [ 197.4 200
MR L m3 | 10 | 163.8 160
7" VAR AMIERE T | 7 = o R S LAIHERE [H=1500 m 1 4.0 4
H=1600 m 1 10.0 10
H=1700 m 1 10.0 10
H=1800 m 1 12.0 12
H=1900 m | 1 6.0 6
H=2000 m | 1 12.0 12
i 5 L&A H=600 m | 1 51.2 51
H=900 m | 1 23.0 23
S BT BidE T T Je R RC-40 t=150| m2 | 10 [ 1379.8 | 1380
| kA RM-40 t=200| m2 | 10 | 1379.8 | 1380
A RM-40 t=100 m2 | 1 572.5 573
Sl | Sm T B | A maE i B | AWk i BB AH| 1 29.0 29 | %
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PR T I m3 | 1,255.1
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(= IR m3 197. 4
HIRL m3 163. 8
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H=1600 m 10. 0
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H=1800 m 12. 0

H=1900 m 6.0

H=2000 m 12. 0

& 5 - it H=600 m 51.2

H=900 m 23.0
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V= 12556.1 + 197.4 -( 443.2 + 163.8)~+
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NO. 24 5.5
20..000 7.10 154. 0

NO. 25 9.9
13. 770 9. 90 136. 3

NO.25 _ +13.770 (9.9)
3.590 4.95 7.8

NO.25 _+17.360 (0.0)
2. 640 0.00 0.0

NO. 26 0.0
20..000 0.10 2.0

NO. 27 0.2
20..000 2.10 42.0

NO. 28 4.0
20..000 6. 85 137.0

NO. 29 9.7
20. 000 13. 30 266.0

NO. 30 16.9
20. 000 17.80 356.0

NO. 31 18.7
5. 250 18. 70 98.2

NO.31 _ +5.250 (18.7)
1.570 10. 00 15.7

NO.31 _ +6.820 (1.3)
13. 180 1.30 17. 1

NO. 32 1.3
20.000 0.65 13.0

NO. 33 0.0
14. 430 0.00 0.0

NO.33  +14.430 0.0)
& & 194. 430 1255. 1
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NO. 24 0.0
20. 000 0.00 0.

NO. 25 0.0
13.770 0.00 0.

NO.25 +13.770 (0.0)
3.590 6. 85 24.

NO.25 +17.360 (13.7)
2. 640 13.70 36.

NO. 26 13.7
20. 000 10. 05 201.

NO. 27 6.4
20. 000 3.45 69.

NO. 28 0.5
20. 000 0.25 5.

NO. 29 0.0
20. 000 0.00 0.

NO. 30 0.0
20. 000 0.00 0.

NO. 31 0.0
5. 250 0.00 0.

NO.31  +5.250 0.0)
1.570 0.05 0.

NO.31  +6.820 0.1)
13.180 0.10 1.

NO. 32 0.1
20. 000 2.20 44.

NO. 33 4.3
14. 430 4.30 62.

NO.33  +14.430 (4.3)
& i 194. 430 443
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RZENE [£RKOVIY), t=85cm] 79.9kg/m2 (94kg/m3)

GtES) (EEANER)

A= 1330.8 + 49.0

1,379.8 m2
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No. 24 9 38
20,000 9 380 187.6

NO. 25 9 38
13.770 9 380 1292

NO.25  +13.770 9.38)
3 590 9 380 3.7

NO.25  +17.360 9.38)
2 640 9380 2.8

NO. 26 9 38
20,000 9380 187.6

No. 27 9 38
20,000 9380 187.6

NO. 28 9 38
20,000 9380 187.6

NO. 29 9 38
20,000 9380 187.6

NO.30 9 38
20,000 9380 187.6

NO.31 9 38
1.870 9380 7.5

NO.31  +1.870 (9.38)
& & 141,870 1330.8
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NO. 26+5.8  {HEZE 12.30 3. 31 3.21 24.5
NO.28+5.0  |{EH 12.28 3. 31 3.21 24.5
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3. 7 VAvabiEEE  [DrvaR{t=LENEEE SER, H=1700]
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BAELY L= 12.0 = 12.0m
5. 7" VivabiERE  [Jrvax{t =LENEEE SEF, H=1900]

AfEEAELY L= 6.0
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NO. 24 0.0

20.000 0.00 0.

NO. 25 0.0

13.770 0.00 0.

NO.25  +13.770 (0.0)

3.590 1.85 6.

NO.25  +17.360 3.7

2. 640 3.70 9.

NO. 26 3.7

20.000 2. 80 56.
NO. 27 1.9

20.000 3.60 72.
NO. 28 5.3

20.000 2. 65 53.
NO. 29 0.0

20. 000 0.00 0.
NO. 30 0.0

20. 000 0.00 0.
NO. 31 0.0

5. 250 0.00 0.

NO.31  +5.250 (0.0)

1.570 0.00 0.

NO.31  +6.820 (0.0)

13. 180 0.00 0.

NO. 32 0.0

20. 000 0.00 0.

NO. 33 0.0

14. 430 0.00 0.

NO.33  +14.430 (0.0)

& & 194. 430 197.
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NO. 24 0.0

20..000 0.10 2

NO. 25 0.2

13. 770 0.20 2

NO.25 _ +13.770 (0.2)

3.590 1.30 4.

NO.25 _+17.360 (2.4)

2. 640 2. 40 .

NO. 26 2.4

20..000 1.85 37,

NO. 27 1.3

20..000 2.95 59,
NO. 28 4.6

20..000 2.35 47.
NO. 29 0.1

20. 000 0.15 3.
NO. 30 0.2

20. 000 0.10 2
NO. 31 0.0

5. 250 0.00 0.

NO.31 _ +5.250 (0.0)

1.570 0.00 0.

NO.31 _ +6.820 (0.0)

13. 180 0.00 0.

NO. 32 0.0

20.000 0.00 0.

NO. 33 0.0

14. 430 0.00 0.

NO.33  +14.430 0.0)

& & 194. 430 163.
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HERA t=15cm A 1.30 x 10.0 13.0 m2
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JIVAINST = #E
L& g BE H=1500 L (N=10.0+2.0=5.0AK) 10.0m




S
il
I

7127 L B BERE  (H=1600)

1/1
X [ B L] = ) IS

Gl

al

No.27 +2.30 [ No.27 +12.30[L= = 10.00{ 10.0m

op

=] 10.0m




oM O H B

J1vAydt = LB BEEE (58 FHH=1600) 10.0m¥ Y
180
%L Uﬁ >z URERR
R L2
JEfE 7)—h ‘ é:g
00 e CO00E!
1250 Jl_OO
1350
£ b Rk ~Tix B =1 =® # =
RC—40
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avhy-p ock=18N/mm2 |V 1.35 x 0.10 x 10.0 1.4 m3
B B A 0.10 x 2 x 10.0 2.0 m2
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avhy-p ock=18N/mm2 |V 1.40 x 0.10 x 10.0 1.4 m3
B B A 0.10 x 2 x 10.0 2.0 m2
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1.

TERE (BAEYLARE40~0mm, t=15cm]

GtES) (EEANER)

A= 1330.8 + 49.0 = 1,379.8 m2
2. FRERE (BAENARE40~0mm, t=20cm]
(GtE®E)  (EEAER)
A= 1330.8 + 49.0 = 1,379.8 m2
3. LB [HAEMREE40~0mm, t=10cm]

(GtEZ)  (EHRAIETR)
A=

493.0 + 79.5

572.5 m2
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A E mog | owed | T WEEE [ Z AR & %
E 5 % KR |¥9 & K L]

NO. 24 9.38

20. 000 9.380 187.6

NO. 25 9.38

13.770 9.380 129.2

NO.25  +13.770 (9.38)

3.590 9.380 33.7

NO.25  +17.360 (9.38)

2. 640 9. 380 24.8

NO. 26 9.38

20. 000 9. 380 187.6
NO. 27 9.38
20. 000 9. 380 187.6

NO. 28 9.38
20. 000 9. 380 187.6

NO. 29 9.38
20. 000 9. 380 187.6

NO. 30 9.38
20. 000 9. 380 187.6

NO. 31 9.38
1.870 9. 380 17.5

NO.31 _ +1.870 (9.38)

& § 141.870 1330. 8
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A E mog | owed | T WEEE [ Z AR & %
& = k| % % & | T A

NO. 24 9.38
20. 000 9. 380 187.6

NO. 25 9.38
13.770 9. 380 129.2

NO.25  +13.770 (9. 38)
3.590 9. 380 33.7

NO.25  +17.360 (9. 38)
2640 9. 380 24.8

NO. 26 9.38
20. 000 9. 380 187.6

NO. 27 9.38
20. 000 9. 380 187.6

NO. 28 9.38
20. 000 9. 380 187.6

NO. 29 9.38
20. 000 9. 380 187.6

NO. 30 9.38
20. 000 9. 380 187.6

NO. 31 9.38
1.870 9. 380 17.5

NO.31 _ +1.870 (9. 38)
& & 141.870 1330.8
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NO. 26+5.8  {HEZE 12.30 3. 31 3.21 24.5
NO.28+5.0  |{EH 12.28 3. 31 3.21 24.5
a8 & 49.0




+ FEER A& (t=100) B =1 - "
A E mog | owed | T WEEE [ Z AR & %
& = k| % % & | T A
NO.31 _ +1.870 (9. 38)
4. 950 9. 380 46.4
NO.31 _ +6.820 (9. 38)
13.180 9. 380 123.6
NO. 32 9.38
20. 000 9. 380 187.6
NO. 33 9.38
14. 430 9. 380 135.4
NO.33  +14.430 (9. 38)
& & 52. 560 493.0
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m fE Al F =

L ERRAET (t=100)

/ A=23. Om2

NO. 26 NO, 27"~ NO. 28

L FERRAE T (t=100)

NO. 29

L ERRAET (t=100)

/ MNe.30 [ MNoj31

L FEERAE T (t=100)

A=15. 3m2 A=20. 6m2
B : m2
&5 Al =R it 5 R miE (m) S
NO.26+5.8 fhiik 23.0
NO.28+5.0 |fhix%& 15.3
NO.31+8.0 |fhixf& 20. 6
NO.31+9.0 fhi%k 20. 6
8 F 19.5
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1. BEEHERE
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PR B 20 B 5 T 0D i F1 81 T

Hh#8 0D S A o B BR N= 3.0

KRR ENEE, RE{ETL(CEREIOMICDE 1 HFTOEITEMR
115 CBREXER N=_ 8.0
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